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A MAHE= A 0 MOtSS A
M J0I2SHASI|BELE (LRI SHE/LBHAE)

Rl Mits2s9EdEt EER=E)
2 2A-ZH - SA(SH) - NISAS - B Off &K & A HusZ
MOS S At 45,833,378 44,897,980 935,398

= 1,251,490 1,190,558 60,932
£ 30,466 0 30,466
< 44,551,422 43,707,422 844,000
SUSSEEP|EEY (LSS /LBHAT) 44,893,865 43,958,467 935,398
= 891,797 830,865 60,932
= 30,466 0 30,466
< 43,971,602 43,127,602 844,000
NOtS2S9E23t 6,271,560 5,657,560 614,000
Nits2s=4dXE 2,080,560 2,188,560 108,000
201 er23 | 39,600 139,600 100,000
03 A2 SHI 15,000 115,000 100,000
CAMOtSEZ AR HER (B A2 0 100,000 100,000
308 L&tz 23,500 21,500 2,000
01 Z&Z 23,500 21,500 2,000
OMOts=2SSEE A Z3 22,000,000 22,000 20,000 2,000
307 2I2to1 1,635,400 1,565,400 70,000
02 LB AANHEE 1,086,400 1,016,400 70,000
CRKCHAI 22D B T THE]
Z& 30,000,000 30,000 20,000 10,000
OMOESEIEM2 U= 50,000 0 50,000
LIOtSU=2UsAtgZ3E3 50|
&& 60,000,000 60,000 50,000 10,000
402 RIZHAHZ01H 370,000 450,000 80,000
01 I SASE X (RHMITHR) 370,000 450,000 80,000
O224IMOISEI NSAI A RS (MU
0 150,000 A 150,000
U= MOtSs 22 Z& 370,000,000& 370,000 300,000 70,000
MOtS2S8dst 1,034,000 634,000 400,000
308 AXIMSO0IA 684,000 634,000 50,000
01 HXHHBAEES 634,000 634,000 50,000
LMOtsetZ &eld] Z& 212,000,000 212,000 162,000 50,000
401 AlEHIYL S THYI 350,000 0 350,000
01 Al&ZHI 350,000 0 350,000
Oet8stisgadad g =Lxl 300,000 0 300,000
OMOISHIOIS 2 HE MOSI1EX 50,000 0 50,000
MOt=s2SHIts2gdat 3,157,000 2,835,000 322,000
401 AIEHIYL 20| 1,322,000 1,000,000 322,000
01 AlZHI 1,322,000 1,000,000 322,000
OMOtS2sHIDISAEAIZEHEHEESR
300,000 0 300,000
OMOIS2sHZE2I 2L AEHES 22,000 0 22,000
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A= - BA - 3H - SA(SAH) - NIRAY - BES Ofl &F2H I8N Hws2
= 60,932 0 60,932
£ 30,466 0 30,466
= 26,752,000 26,752,000 0
3= - JESoiett=1lo =+ 91,38 0 91,38
= 60,932 0 60,932
£ 30,466 0 30,466
403 TS =01 91,398 0 91,398
= 60,932 0 60,932
£ 30,466 0 30,466
01 AtXIEtHAH22 £ 91,398 0 91,398
s - ZFSoliHA =2 o=+ 91,398 0 91,398
= 60,932 0 60,932
= 30,466 0 30,466
MOt=2SHIAH =t 7,365,000 7,175,000 190,000
MOISTHEXI 2 7,144,000 6,954,000 190,000
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01 &= 1,900,000 1,760,000 140,000
LMOEMEEE Z& 1,900,000,000& 1,900,000 1,760,000 140,000
308 AHXIHMS0IA 5,244,000 5,194,000 50,000
11 S| 2S0teE & EAE AL 5,244,000 5,194,000 50,000
CIAOFS S M Z 2= Z2& 200,000,000& 200,000 150,000 50,000
oIzt Mg =2 st 1,240,700 1,210,700 30,000
gt Ed X 1,140,700 1,110,700 30,000
307 212t01™ 1,110,000 1,080,000 30,000
02 QIS EX 870,000 840,000 30,000
CROPt=EERIHE A AT 30,000 0 30,000
AR SAMEEED|e A 2,846,207 2,836,207 10,000
= 830,865 830,865 0
== 2,015,342 2,005,342 10,000
NRASAX=E X 1,319,560 1,309,560 10,000
307 212t01& 1,293,560 1,283,560 10,000
02 QIHHAANGEE R 489,000 479,000 10,000
O=SE A SAHIE ALS 359,000 349,000 10,000
OZ A= XA SAIUE Z2& 50,000,000& 50,000 40,000 10,000
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A MAHE= SA SR
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Rl SEHIR2AL (SH9 H2)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
1 129,431,068 121,075,328 8,355,740
= 44,000 44,000 0
z 166,5% 166,5% 0
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Lo 2lesH| 2 & 697,000,000& 697,000 690,000 7,000
SEEAAH 2R 833,776 823,776 10,000
405 THEFESHI 383,000 373,000 10,000
01 TR ESF SHI 383,000 373,000 10,000
Lol=E+Y 10,000 0 10,000
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01 Tt =S F=H 27,000 5,000 22,000
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[ 111,435,865 110, 103,865 1,332,000
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01 2= 95,624,358 94,552,358 1,072,000
gExeld 1,072,000 0 1,072,000
02 JIEtA == 5,434,093 5,369,093 65,000
gy 65,000 0 65,000
204 2Rt AH 3,834,520 3,689,520 195,000
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H & 0l & AHSH H M A
0235 =& 1 2| LetsH AXAE=
a2 UXEE= A BESAY
A ANEZSTE(LLSIHY/LBHHE)

o FE3PDIE xS (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t o H o HIDS2
2SI 23,223,376 10,614,376 12,609,000

= 9,257,825 257,825 9,000,000
£ 500,000 0 500,000
< 13,465,551 10,356,551 3,109,000
ADIELSTE (LS I/ LEET) 10,176,084 10,161,084 15,000
= 257,825 257,825 0
[ 9,918,259 9,903,259 15,000
2B x S 583,565 573,565 10,000
BBt d =& A 35,000 25,000 10,000
201 L= 16,000 6,000 10,000
03 A2 10,000 0 10,000
OBAEEMAXNSRIAAIS 10,000 0 10,000
FSONINE= PSR e 6,176,511 6,171,511 5,000
FESNY=2d 3,128,800 3,123,800 5,000
201 L2 2,633,800 2,633,800 5,000
03 HAH2ZHI 5,000 0 5,000
DA USSHUAZRHAIS 5,000 0 5,000
ADLEAEIQI T RS (05| =/ 08D | =Y bt 12,872,692 282,692 12,590,000
= 9,000,000 0 9,000,000
£ 500,000 0 500,000
[ 3,372,692 282,692 3,090,000
ADLEAMEISERXE 12,872,692 282,692 12,590,000
= 9,000,000 0 9,000,000
£ 500,000 0 500,000
< 3,372,692 282,692 3,090,000
THEQHMADIEAIEISE S XS I ToAY 500,000 0 500,000
£ 500,000 0 500,000
401 AIEHIZL 20HY 500,000 0 500,000
£ 500,000 0 500,000
01 Al&HI 483,055 0 483,055
O HMADIEAEISSE S DESALY
483,055 0 483,055
£ 483,055 483,055
02 Zell 13,475 13,475
OMHHMADIEAEISE S S DESALY
13,475 13,475
£ 13,475 0 13,475
03 A2 THYI 3,470 0 3,470
OMHHMADIEAEISE ST DESAIY
3,470 0 3,470
£ 3,470 0 3,470
CXESSHUIASMEIZME (IR FXR) 90,000 0 90,000
308 XXIHMSOIA 90,000 0 90,000
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I ADEAEIIECtRE(USDIE/UsD =)
chelr ADEAEISELXIR EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
01 XN B2 LS 90,000 0 90,000
SRttt szl |teSddEdatdblARSE
90,000 0 90,000
ASAADEAEIZS ALY 5,200,000 0 5,200,000
= 4,000,000 0 4,000,000
< 1,200,000 0 1,200,000
403 MXISHHSI=01H 5,200,000 0 5,200,000
= 4,000,000 0 4,000,000
& 1,200,000 0 1,200,000
01 IXISHX=2EX 5,200,000 0 5,200,000
USATAIADEAIEIZEAIS 5,200,000 0 5,200,000
= 4,000,000 0 4,000,000
= 1,200,000 0 1,200,000
A0LEAEIZE X2 A 6,500,000 0 6,500,000
= 5,000,000 0 5,000,000
< 1,500,000 0 1,500,000
403 MR EHHSAHE01H 6,500,000 0 6,500,000
= 5,000,000 0 5,000,000
< 1,500,000 0 1,500,000
01 RIXIEHHIXtE 24 6,500,000 0 6,500,000
OAOIEAEIZ->IAIZ ALY 6,500,000 0 6,500,000
= 5,000,000 0 5,000,000
< 1,500,000 0 1,500,000
CIXEEI2Z8A (2R EXH) 300,000 0 300,000
403 MR SHHMSAH=01H 300,000 0 300,000
01 XIXIEHXt=EE 300,000 0 300,000
OCXNEe=2xd A 300,000 0 300,000
WLES (2SN (LLSIAY/ULAT) 73,300 69,300 4,000
L F SN 73,300 69,300 4,000
=Pl 73,300 69,300 4,000
802 gtet=JIE 73,300 69,300 4,000
03 JIEIEHEIS S 73,300 69,300 4,000
OsHEXNSZUHS LML HARIDIRAE S
E] &3 73,300,000 73,300 69,300 4,000
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